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P IPIEEEE 19,575,860 16,840,621 2,735,239
2 4,388,797
z 7,738,000
| 70,000
= 624,563
= 6,754,500
S9JIEE3 U RS0l SX 19,435,010 16,697,071 2,737,939
2 4,388,797
z 7,738,000
| 70,000
= 624,563
= 6,613,650
MYXE IR L NTIIBEY 13,253,434 10,546,300 2,707,134
2 3,929,007
z 5,728,000
| 70,000
= 3,800
= 3,522,537
SEXCIIE 265 L 25 =X 932,400 955,400 23,000
307 2120l 12,000 5,000 7,000
02 pIANBNBE 2,000 5,000 7,000
OMSIIETY U =L 9 2,000
308 XX EHHISOIF 56,400 86,400 30,000
01 RXCSHZLRES 56,400 86,400 30,000
Os20lz HSNYRY AYLS
30, 00021 %2091 302! #6:2 OFx30% 32,400
02010 S5 HEH BA2Y XL
5,000, 0002 * 167} 4 *30% 24,000
403 RXISH SR 201 864,000 864,000 0
01 RXISAXEEE 864,000 864,000 0
OXNHSE ASHRHLAH
30,000, 0002 * 1674 4 *30% 144,000
ONZSLIISHE SN
150,000, 00024 * 167H 2 %30% 720,000
AEAsY U NET AYRS AR 626,460 603,460 23,000
308 XHXISHH SOl & 139,660 139,660 0
01 MXSHBABES 139,660 139,660 0
O 233 XX & 417,533, 0002 *30% 125,260
OREY DB STBN Y& AYE 29
000,000 * 167H 4 %30% 14,400
403 XX SIS K20l ® 486,800 463,800 23,000
01 RXISAXEEE 486,800 463,800 23,000
OEH DBIY T2 AlY
509, 000, 000! *30% 152,700
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OAlERE Mile £4 AlY
350,000,000 *30% 105,000
OSEES(HA) 828t AY
167,000, 000& *30% 50,100
Os4E BHBRI(GAP)ISAAH X
200,000, 0003 *2H 2~ *30% 120,000
OF=E XM Al (Qlah) 8,000
OzEd 2= Al 15,000
ONF0t S5 SBdHEsSHN HE SESH it
X 2 A 120,000, 000& *30% 36,000
s stsHH |54 1,406,100 638,050 768,050
= 3,800
& 1,402,300
307 QI2t0IA 400,600 407,600 A7,000
= 3,800
& 396,800
02 2ItBAE X 100,600 107,600 AT7,000
OR+ESY =X Xs HIHEMZO0H) 93,000
Os&X&its29g 6,000
= 3,000
= 3,000
O4-Hgl24 1,600
= 800
& 800
04 RIFHAIE X 300,000 300,000 0
Os0El stsHH A 300,000
308 XX HHSO0IA 1,000,500 200,500 800,000
01 XS MBLNEEXS 1,000,500 200,500 800,000
SENEN sHeldz2 X
25,0003 = 11,0001 «30% 82,500
OB=2E=ENEX 84
1,000, 000 *2607H *30% 78,000
Ost4-HItN &S AMEXE
1,000, 000& *1007H 12 *30% 30,000
O4HsI® 2EH NPT
25,000,000 » 1002 *30% 750,000
SENENAHINHHSMESH HA RS IHE A
& 10,000, 000& * 1694 2~ *30% 48,000
Os&XNZTis Ndg=sitE g2
10,000,000 *4 I 2~ *30% 12,000
403 X SHMSAH=201H 5,000 20,250 A 15,250
01 RXSHMA2E = 5,000 20,250 A 15,250
O=sEXNE X2l A&l 5,000
sedlz 2225 73,280 53,280 20,000
101 el 9,000 9,000 0
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O=gea s 810
201 ety 15,000 0 15,000
01 At 2l 15,000 0 15,000
Oseled QUM 15,000
308 XHXIEHHI SOl 44,280 44,280 0
01 HXSHBAEES 44,280 44,280 0
OJl&Ze 2N X2
6, 0008 *2, 0505 * 122 %30% 44,280
405 HaHzE S| 5,000 0 5,000
01 HAYLSEHSH| 5,000 0 5,000
OSZXEANY S8 SSAME A2 Iy 5,000
MII& 22 A A 2,708,800 2,675,000 33,800
= 2,619,400
p 70,000
= 19,400
101 @l 24| 4,000 0 4,000
= 2,000
= 2,000
04 JIZH2ERNSES 4,000 0 4,000
OMEZE2Z0Y =X 4,000
= 2,000
= 2,000
201 ety 5,800 0 5,800
= 2,900
= 2,900
01 At el 3,500 0 3,500
OMEZEZ0Y HA0BS AR22IH S 3,500
= 1,750
= 1,750
03 A2 H 2,300 0 2,300
OMEZZ2Z0Y F0BS 2ZHAE K3 2,300
= 1,150
= 1,150
206 T2l 20,000 0 20,000
= 10,000
= 10,000
01 MEH 20,000 0 20,000
OMEZE2Z0Y HABS EHAE WE 20,000
= 10,000
= 10,000
308 XHXIEHHISOIH 70,000 75,000 5,000
p 70,000
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0fl &F 01
01 AIXSMIMNEEZ 70,000 75,000 A5,000
OMASEMASAIG (MESHI) 70,000
J| 70,000
403 XHXICHAI S KH= 0 & 2,600,000 2,600,000 0
= 2,600,000
01 NIXSHHMA2EE 2,600,000 2,600,000 0
OMDI=E 3 AIY 2,600,000
= 2,600,000
405 XHAFFESHI 9,000 0 9,000
= 4,500
& 4,500
01 M =SF SHI 9,000 0 9,000
ONMES=Z0HY A0S BHAE =X 23 9,000
= 4,500
c 4,500
=8 d dRgs K3 520,000 513,000 7,000
= 520,000
308 AXIEHHISOI A 520,000 487,000 33,000
= 520,000
01 MHXSHHBNEXS 520,000 487,000 33,000
OYs8E ongs N
1,040,000, 000-& *50% 520,000
= 520,000
S3&s EHFE AlY 1,950,000 900,000 1,050,000
2 1,925,000
o= 25,000
402 SIZ2tX=201A 50,000 0 50,000
Z 25,000
== 25,000
02 2I2HCHEH AFR B 50,000 0 50,000
Ot E0IE AYH(FTAZ XM [MD) 50,000
Z 25,000
& 25,000
403 MXISHHSA20|H 1,900,000 900,000 1,000,000
& 1,900,000
01 XXESHR=2ExR 1,900,000 900,000 1,000,000
OXNY9sdEHLS JIsXNd AlY 1,900,000
& 1,900,000
SHE 2ol 2A4M 879,39 873,500 5,894
= 789,697
& 89,697
201 LBr2AH| 117,000 31,000 86,000
= 58,500
& 58,500
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N3 CA(ZAH) - MRAY - BES At ol 4T BlusZ
= B ° - (= Bl e =5 0:”/|l|,% Lsa
03 AIMFXAHRFEH| 7,000 4,800 2,200
OsgllsEa g2Fd 3,500
OsgoHissd XN& 3,500
206 M=l 13,000 13,000 0
01 M=Hl 13,000 13,000 0
OEIZZRE ZzNE FX 5,000
OdEids u=s 2,000
OXZEAHAFS HWEKAUOI 3,000
Osglls EE28AIZ 3,000
301 et2a = 52,000 50,800 1,200
10 HALAHIZEAS 52,000 50,800 1,200
OS2 N= 26,000
Os&MU=S 16,000
OMENLDS 10,000
405 XHA&HFE SHI 2,000 3,510 A 1,510
02 =AY 2,000 2,000 0
O=ZzZstutsrar & A 2,000
NEESA RS It A 792,000 150,000 642,000
= 792,000
403 XXM S K20l 792,000 150,000 642,000
& 792,000
01 MXESHMA=2EER 792,000 150,000 642,000
OXNggds &= Al 792,000
= 792,000
M2 MII=E2 ¥ =5 [=X& 3,746,640 4,017,335 AN270,695
2 274,700
= 350,000
= 619,295
& 2,502,645
IS JUESHL 1,622,440 1,289,795 332,645
= 619,295
& 1,003, 145
403 XXM S K20l 1,622,440 1,289,795 332,645
= 619,295
& 1,003, 145
01 RXSHMA2E = 1,622,440 1,289,795 332,645
OXNEEHLs AIEH 619,295
= 619,295
OSssHXsEd D Al 309,645
OAZ 30 A 795,000, 000& *30% 238,500
O3 & e 720,000, 000& *30% 216,000
OMAHZ MatA
466,666,000 *30% 140,000
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=N 30,000, 00024 +30% 9,000
O=MSIIE 0188 MIIE AZAHY
10,000, 0002! * 167H 4 *30% 48,000
BM42 BIDI5H0 AFY HFo 223 557,000 543,000 14,000
403 XX EHH S X201 H 557,000 543,000 14,000
01 XXSHI=LE 557,000 543,000 14,000
ONEBX SMS AHMM AY
1,856,666, 0002 x30% 557,000
SE42 2SS0 )X 592,500 268,500 324,000
308 XtXIEHHISO0IE 174,000 26,000 48,000
01 HASHBARSES 174,000 126,000 48,000
Ox=Bins a3 MY
420,000,002 *30% 126,000
OXSEeRs SASEHS NI AlY
5,000, 00024 * 167H 2 +30% 24,000
OUEA AHAZ SAXONEY 22 Al
20,000,0002! *43] +30% 24,000
403 THXISHHISKHE 0l H 418,500 142,500 276,000
01 XIS K22 E 418,500 142,500 276,000
OsU+EZW JIBEN AlY
475,000, 0002 +30% 142,500
O+ =42 IH2E2 I8 FY2HE AY
20,000,0002 *10JH £ *30% 60,000
OB2% SN AYYAH Al
0,000, 000! * 162H 2 +30% 96,000
Oszax=8 29 100,000
Ol BaHelAl 20,000
SIHRSEY L FHIX 274,700 300,000 25,300
2 274,700
308 XHXISHHSOIE 24,700 20,000 4,700
3 24,700
01 HASHBARSES 24,700 20,000 4,700
OSJINDSEY DS 24,700
2 24,700
403 XX EHH S X0l ® 250,000 280,000 30,000
2 250,000
01 XXISHI= 2 E 250,000 280,000 30,000
OSIINDSEY FUIXR 250,000
2 250,000
SHOIDSAE S U DAYSAL 2@ 700,000 1,536,040 836,040
z 350,000
= 350,000
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JI=Xd (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
- o=\ T - = S = &= 0:”/&,% WS
O=sgs24d =287 WA 20,000
= 10,000
L= 10,000
O==2dselMis s &I 190,000
= 95,000
& 95,000
SEME 2N X 2,434,936 2,133,436 301,500
= 185,000
= 1,660,000
= 1,468
& 588,468
HSIE ASs @ sE0HE s 389,936 345,436 44,500
= 1,468
= 388,468
301 LEtE A= 2,936 2,936 0
&2 1,468
= 1,468
10 dALAHIE &= 2,936 2,936 0
OMEIINENS 1,856
= 928
L= 928
Od=ge sz u= 1,080
2 540
L= 540
307 QI2t0IA 60,000 17,000 43,000
02 2ItBAE X 20,000 0 20,000
OMEINds 2 XN& 20,000
04 QIHHAIE X 40,000 17,000 23,000
OMEIHE AIEAMY 2435t 40,000
308 NXIHHSOIH 135,000 120,000 15,000
01 AXNHMBLEEXS 135,000 120,000 15,000
Ostt=20tE d2e8 24 Al
5,000, 000% * 16 H 2 *30% 24,000
OsE EESA MU HsE2=2 AlE
5,000, 000& =161 21 *30% 24,000
OdEIHs WMEHTS |4 AlY
2,500, 0002 * 169 2 *30% 12,000
Od&iidsl 22X X&E
25,000 =10, 000& *30% 75,000
403 XXM SK=201H 192,000 205,500 213,500
01 RXESMIA2E = 192,000 205,500 A 13,500
OXNZAS0IZ2 o33 AlY
10,000, 0003 » 169 2~ *30% 48,000
OXNZAZE 012 HESA HZaSet Al
15,000,000 *4JH 2~ *30% 18,000
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DU se)lavE W HEEYR K4
Chel: SEME XRNY X (el mg)
SN HB SR (BIH) - A - B S 0l &b S D=2
- o T - = S = &= 0:”/&,% WS
ONdSsSANMEE AIE 5,000,000 *4IH A *30% 6,000
OSELSENY AIY
50,000,000 *4JH 2 *30% 60,000
OB sHE IIESS Mo A"
100,000, 0002 *2IH 2= *30% 60,000
HLet SEME X4 142,000 75,000 67,000
308 AXHHSOIH 30,000 30,000 0
01 MHXSHMBLEXS 30,000 30,000 0
Os&g otdelfdedd =228 29
10,000, 000& * 104 2= x30% 30,000
403 NtXIEMSA=01H 112,000 45,000 67,000
01 MXEMA=2E X 112,000 45,000 67,000
O QHEAIT SXAY
8, 125,000& 169 2 *30% 39,000
Os&AEZTF MY 10,000,000 *27H 2~ *30% 6,000
OstiS=sAeSIIAIE
10,000, 000& * 104 2= *30% 30,000
OsZ=dgsty et T4 (2A2) 37,000
SEME2E 243 N3 53,000 53,000 0
307 212t01& 5,000 5,000 0
04 QIHHALE X 5,000 5,000 0
OUNSERE FHRH
100, 000 & 252 200 &H | 5,000
403 XXM SA201H 48,000 48,000 0
01 AXSMIA2E = 48,000 48,000 0
SESSHME &3MHE AlY
5,000, 000& * 169 A *30% 24,000
OsZ Megsit 24 Ald
5,000, 000& * 169 2 *30% 24,000
sEAL =02 275,000 300,000 225,000
& 275,000
403 XXM SA201H 275,000 300,000 225,000
= 275,000
01 RXSHMA2E = 275,000 300,000 225,000
Os&Edd&==0ts 54 275,000
= 275,000
sSENEALSS 960,000 470,000 490,000
= 960,000
403 XXM SA=01H 960,000 450,000 510,000
& 960,000
01 AXESMA2E = 960,000 450,000 510,000
ONAESI 2= MY 960,000
& 960,000
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SRABAWLBOIFY KA 425,000 400,000 25,000
3 425,000
403 RHXISHH SX20|H 425,000 400,000 25,000
3 425,000
01 MXSHAZ2E 425,000 400,000 25,000
Os=tel #2Ne BOIRY X 425,000
3 425,000
SRl ThaH ol 190,000 190,000 0
= 185,000
= 5,000
201 Yereg| 4,000 8,000 A4,000
= 2,000
= 2,000
01 Attt 4,000 8,000 4,000
Osel otEAlY 29 =7 4,000
= 2,000
= 2,000
202 01t 4,000 0 4,000
=2 2,000
= 2,000
01 =UH0i | 4,000 0 4,000
OsEel HaHY SEX 2 4,000
= 2,000
= 2,000
301 LPBAI 2,000 2,000 0
= 1,000
= 1,000
10 BAAHIE A2 2,000 2,000 0
OSHAOTAIY AH|PA 2,000
= 1,000
= 1,000
308 XHXISHH SO & 180,000 180,000 0
= 180,000
01 MXSHZHSES 180,000 180,000 0
Osxel oHEARIE 27 AlY 180,000
= 180,000
HESAAY (sUlsY JEES2) 140,850 143,550 A2,700
29| 15,600 15,000 600
SEETISIEEEEY 15,600 15,000 600
203 HRFAY| 15,600 15,000 600
01 JBSYHREAY| 6,600 6,000 600
0=% 6,600
04 BASHAREAY] 9,000 9,000 0
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